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Король Йагупоп

Длина – 5 м
Ширина – 4м
Периметр - ?



10 лестниц по 9 ступенек 
каждая
Сколько всего ступенек?



Чтобы умножить 
число на 10, 

можно к этому 
числу приписать 

справа ноль.



При делении 
круглого числа 

на 10, у 
делимого надо 
отбросить один 

ноль.
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40 : 10 = 4 (п.)
Ответ: 4 пирожка.
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4 · 10 = 40 (п.)
Ответ: 40 пирожков.
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40 : 4 = 10 (т.)
Ответ: 10 тарелок.



Чтобы умножить 
число на 10, 

можно к этому 
числу приписать 

справа ноль.



При делении 
круглого числа 

на 10, у делимого 
надо отбросить 

один ноль.


